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THE MARGINAL VALUE OF A NURSING EDUCATION

Kim Mo Im and Kit G. Johnson

What is the marginal value of 4 years of Nursing Education to a 22 year old girl and
to Korea in 19707 This guestion requires several answers, The first answers consider the
cost of the Nursing education to the girl and to the Nation. The other answers consider
her imcreased earnirg and production potential as a Nurse. In each case we must compare
her cost and earninings or production potential as a Nurse versus the same items if she
had not become a Nurse, but gone to work immediately after finishing High School.
Because the cost of carrying her through High School and the cost of living bevond that
point is about the same in both cases we can disregard calculating them and focus upon
“The Marginal Vale of a Nursing Educaticn”, or the difference in real income and
production derived from hecoming a Nurse.

What is the extra cost of a Nursing Education to the girl, upon completion of her iraining?

ITEM | CAPITAL | CAPITAL-INTBREST®
Nursing School Tuition: } l
First year % 50,000 l 86, 400
Second year 51, 100 73,584
Third year ’ 49, 500 l 59, 400
Fourth year 52, 000 \‘ 52, 000
Lost income?: { [
First year 135, 000 r 233, 280
Second year 135, 000 } 194, 400
Third vear 135, G600 162, 000
Fourth year 135, G0 ] 135 000
TOTAL 1 ' 996, 064

(1 Nursing School Tuition: for simplification the actual costs at one School were used
for this calculation. Similarly the same School's figures were used to calculate the Cost of
Nursing Education, below, and for calculating the Income of a Nurse, bealow.)

(2 Capital+Interest: If the girl had not spent the money or education she could have
put it in the bark at 20% annual compeund interest. Similarly, her lost income would have
heen available for investment.)

(3 Lost income: is equal to the average daily worker's annual income, because
presumably the girl could have received this salerv as a High Scheol Graduate, if she had

gone to work instead of attending Nursing Scheol.)
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What is the extra eost of educating a girl to become a Nurse to Korea?
]

ITEM l CAPITAL CAPITAL-+INTEREST®
Nursing School Educationt:
First Year $E170, 520 FF204, 659
Second year 170, 520 245, 549
Third year 170, 520 204, 624
Fourth year 170, 520 170, 520
Lost production®:
First year 135, 000 233, 280
Second year 135, 000 194, 400
Third year 135, 000 162, 600
Fourth year 135, 000 135, 0600
TOTAL 1, 640, 032

(4. Nursing School Education: The average annual cost of a Nursing Education per girl
to Korea is equal to the yearly budget of the Nursing School (334,104, 000) devided by
the number of students (200).)

(5. Lost production: the cost of lost production to Korea is equal to the lost income of
the girl, because this is the value the Nation places upon her production.)

(6. Capital-+Interest: The money spent on her Nursing Education or lost by her non-
production could have been invested at 20% annual compound interest.)

Now, what is the extra value of becoming a Nurse in terms of increased income for the
girl or increased productivity for Korea? Again, we will presume for comprison that she
could have gone to work for the average daily worker's salery.

INCOME OR PRODUCTION PER YEAR

Average Nurse 360,000 (+)
Averagedaily worker 135,000 (—)
Marginal or extra income of a Nurse per year 225,000

(7. Average Nurse: income 1s derived from the same institution used to calculate the
cost of Nursing Education. Head Nurse=3%32, 000, Graduate Nurse=¢27, 000}

Thus the value of a 4 year Nursing Education in terms of its cost to the girl is 39056,
064 ($3, 320) or in terms of its cost to Korea is ¥, 640, 032 ($5, 460). However, its value
in terms of its marginal or extra benefits to the girl and to Korea in terms of added
income or production is $225, 000 ($750) per year.

Is the vajue of the marginal increase in income or productivity worth the value cf the
extra cost? For the girl the answer depends upon whether or not she is willing to work
long enough.

Thus she does not start to make a profit upon her invesiment as a Nurse until her
thirteenth year of work, when she profits by 3224, 605. From then on her profit is 3225,
000 per year. These calculations are hased upon stable incomes and stable Interest rates,
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YEAR MARGINAL INCOME 20% INIEREST ON DEBT | OUTSTANDING DEET

Initial ¥ W 7996, 064
1 225, 000 199, 213 ava, 277
2 225, 000 194, 055 944, 450
3 225, 000 188, 598 939, 332
4 225, 000 187, 866 90z, 198
5 225, 000 130; 440 857,638
6 225,000 171,523 804, 166
7 225, 000 160, 833 739, 999
8 225, 000 148, 000 662, 999
9 225, 000 132, 600 570, 599

10 225, 000 114, 120 459, 718
1 225, 000 51, 944 326, 663
12 225, 600 65, 333 166, 996
13 225, 000 33,399 0

80 it Is reasonable to assume that rising incomes and lowering interest rates will actually
allow a girl to start profiting from her Nursing Education in about half of the calculated
time. But if she only works for 3 to 5 years, from an economic standpoint she made a
bad investment in a Nursing Education.

For Korea, the analysis of the comparative value of the cost of the Nursing Education
and the value of its increased productivity produces provocative results.

YEAR MARGINAL INCOME 20% INTEREST ON DERT OUTSTANDING DEBT
Initial B ¥ 1, 640, 032
1 225, 000 328, 006 1,743,038

Every vear the outstanding Debt will continue to grow larger: This is because either:
(1) The imitial cot of producing a Nurse is to high. (2) The interest rates are to high.
(3) The marginal income derived from becoming a Nurse is to low. or (4) 4 combination
of two or more of these factors. In any case it is obvious that something is dangerously
out of balance on the Korean Labor-Educaticn-Economic scene when the country can not
afford to produce such a vital health manpower person as a Nurse.

The most reascnable explanation is that the Nation undervalues the worth of a trainned
Nurse. This is substantiated by the recent official policy of exporting Nurses in return for
hard-currency. Such a value system will only work for the detrement of the Society in
the long run. Therefore, it is suggested that Nurses, and other vital serveats of 8OCiety,
should be more accurately and honestly valued for their services.
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